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glenferal & ford faer -

Instructions for the candidates :

1. wRIeE] FYRIE 39 vsl 7 g SuY R/
Candidates are required to give their answers in their own words as far as
practicable.

o IR ik eifird W R4 gT 3w quiier Ml @ 81
Figures in the right hand margin indicate full marks.

3. = GEIIH & HEgEE 9g @ kg wenfEl # 15 fre @1 sitake q@q A
T &
15 minutes of extra time have been allotled for the candidates to read the questions
carefully.

4. Jg g¥YF g @Uel H 8, @Ue-37 U9 Gus-d/

This question paperis divided into two seclions — Section-A and Section-B.
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SEEMANCHAL ACADEMY

S. WS- H 48 GG Wy §1 7 @ fet a0y @ IO I &1 HAF F ferg
1%%?!@%%40#%WWWW?H?W4OW$
ST FT & HoAFT GHTT | FTH I SYGTRI FTE T OMR STK-TAF A [T T FE g7
I et/ Fe T 97 & 0F | Frelt oft T & gagery / aver gard / WS/ G
HTIT ST OMR IHY-UNT  FANT He=T TT & el THHT TRTH ST &I |

In. Section-A, there are. 48 objective type questions; out of which any
40 questions are to be answered. If a candidate answers more than 40 guestions,
then answers of first 40 questions will be evaluated only. Each question carries
1 mark. Darken the circle with blue / black ball pen dgainst the correct option 'on
OMR Answer Sheet provided to you. Do not use whitener / liquid / blade / nail

etc. on OMR Answer Sheet; otherwise the result will be invalid.

6. TUS-& H 28 g IWNT W &1 577 8 WA i vimem &, 7 WA CATAT WA &
vd 7997 e famrT & &1 yede fawg (wifre v, war vy va e ) @
IR-9R 591 %1 I 37 &1 Hedw & [0 2 s FreiRa &1 w3 sifaRe s@ @ve &
6 3 Fvia 7v7 4 10 & A § 2w wifie s &, 2 gv v0IET A &
ea 2 WvT AT T ¥ & %W%ﬁaaﬁﬁm%ﬁfﬁtf 6 3@, TATAT
oI U e BT 3 R1g. 5 sfF P &1 sede e (sifres v, 7T S
ga S [@T) T Q- g9 @ IR 37 a1
In Section-B, there are 28 short answer type questions. Out of these, eight
questions are from Physics, seven questions are from Chemistry and seven
questions are from Biqlogy. Four questions are to be answered from each subject
(Physics, Chemistry and Biology). Each question carries 2 marks. Apart from
these, there are 6 Long Answer type questions in which two questlons each from
Physics, Chemistry and Biology are there. Long Answer type questions from
Physiés carries 6 marks each, and from Chemistry and Biology carries 5 marks

~each. Answer of one question each from Physics, Chemistry and Biology is
compulsory.

7. [#dl 5eR & gelagiiie SYHIOT T HFIT Qoiear afrd &1

Use of any electronic appliances-is strictly prohibited.
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@US - 37 / SECTION - A

TS W / Objective Type Questions
H¥T QAT 18 48 7% TG0 7T &1 g9 © et 405wt T IW 30 &1 wedew qew
& Wiy A faweq Ry 77 & frent @ v @@t &1 o grr g7 o wEt freew @t omR
vz ov fafgaa &% 40 x 1.= 40

Question Nos. 1 to 48 are of objective type. Answer any 40 questions. Each question has
Jour options out of which only one is correct. You have to mark your selected option on

the OMR sheet. 40x1=40
1. frefeies & & &9 9 99 & g ot g S s 2
(A Cl, (B) SO,

5y~ co, o o,

Which of the following gases turns lime water milky ?

A) Cl, (B) SO,
() gco, o) o,
2. TN 3= efofea & 4 frad amr s © 2
AT X B) EHWI
©) T (D) 3
Tartaric acid is found in which one of the following ?
(A) Tomato (B) Orange
(C) Vinegar (D) Tamarind
3. o & q9EEe 9T E
(A) CaSO,.7;H,0 (B) CaSO,.2H,0
(C) CaS0,.10H,0 D) T 9 FE A
The chemical formula of Gypsum is
(a)  CaSO,.1H,0 () CaSO,.2H,0
(C) CaSO,.10H,0 (D) None of these
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SEEMANCHAL ACADEMY
4. T qun gewgfE ot & s siifiear @ Frafafaa § @ #1999 ferdt € 2

(A) O, (B) cCo,

(€) H, (D) N,

Which of the following is evolved when' zinc reacts with sﬁlphuric acid ?
A o, ® co,
J&- H, (D) N,

5. 9 ufRew Wi IR Wiy w vl wor (sem-mn) Rl gee 8 R S
Wl SR foreifter & < ¥ o Jeeta g @ few @

JAL SR Rt AR B) T H A
(C)  3TangE (D) SufegE

When ‘positively charged particle ( alpha-particle) is projected towards west and
deﬂéc_:ted_'to\ﬁards north by a magnetic field, the direction of magnetic field

will be
(A) toward south (B) towards east
(C) downward (D) upward

6.  wR ol o R oo W R W
(A) 220V W G ury g & B) 12V W < yrT @6 ¥
9 220’V I -Scdrerd] URT gt § (D) 12V W SEd! URT 2l &

The domestic supply of electric current is

(A) direct qurrent at 220 V (B) direct current at 12 V

(C) alternating current at 220 V (D) alternating current at 12 V
7. T S W A % R 79 YR ST aes o1 3uanT TR R e gea ¥ 2

(A) Y9 o fe B) R o R’

© A (D) T ¥ A &
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In which day a solar water heater cannot be used to get hot water ?
(A) A sunny day (B) A cloudy day
(C) A hot day (D)  None of these

8. ﬁﬁﬁﬁﬁq—mmﬁﬁa@rﬁ%wﬂﬁ%?

(A) T S (B) TEA FeAl
(C) YT et (D)  SEHEET
Which of the following is not derived from the solar energy ?
(A) Geothermal energy (B) Wind energy
(C) Nuclear encrgy (D) Biomass
9.  IFHIEI HUAT WS Y UHedr ¥ ?
(A) TR ERT (B) S gRT
Sy~ HeUR R D) TE I
How does amoeba catch its food ?
(A) By tentacles (B) By tongue
(C) By pscudopodia (D) By mouth
10.  SHIH-Q1 T~TRH 94T R g1 &ar & 2
(A)  I=dE (B) fewm
(C) RIS (D)  TATETST
Which cnzyme acts upon fat ?
(A) Pepsin (B) Trypsin
(C) Lypase (D) Amylase
11. g yoR & aa7 § s So1 g et g ?
(A) TEEy B) EREER
© (AT (B) IF. D) &7 § HE 7
Which type of respiration releases more energy ?
(A) Acrobic (B) Anaerobic
(C) Both (A) and (B) (D) None of these
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14.

15.

SEEMANCHAL ACADEMY

TS AT

(a) R By few

(C) == (D) ®HST
Respiratory organ of fish is

(A) trachea (B) gills

(C) skin (D) lungs
R % G SR 5% 8 B ) e B e & 2

() R iR (B) WeWR FHIRTEHIL
(C) =Ter TiferTd D) HeT A
Opening and closing of stomata is controlled by

(A) guard cells (B) companion cells
(Cy  sieve tubes (D)  root hair

7= # @ B 75 = e O e wE

(A A (B)  HH

(C) THAHTEd () e

Which one of the following is structural and functional unit of kidney ?
(A) Neuron (B) Nephron

(C) Glomerulus (D): Ventricle

TS T Y@ Scdsit 3T Fifhd & B € ?

(A) G&h B)

() R UM (D) FRE
Main excretory organ of human beings in the following is
(A) kidney (B) blood

(C) sweat gland (D) pancreas

1112 J:C ISCIQ-C [13}| Pageﬁoféo




SEEMANCHAL ACADEMY

16. UghH =T E ?
a) R for emE B) T for gEE
(C) U= W (D) FH | g
Whalt is Androgen ?
(A) Male sex hormone (B) Female sex hormone
(C)" Digestive juice . (D)  All of these
17, <dor & A Rl o g8 W Rem vt wifforsn e el g @ & o g0 @
(A)  THa FHEAA (B)  <hael
C) e I (D) A @ T el 3T

If the image of an objéct is always erect for any distance of the object in front of

the mirror, then the mirror is

(A) only plane (B) only concave

(C)  only convex (D) either plane or convex
18, Frdt R @ ew § v wdv Frefefea § @ A e € 2

(A)  STEE SUUT (B) ST Ul

(C)  FHd YT (D)  HHA a1 37t gUuT

Which of the following is the mirror used in the headlight of a car ?

(A) Concave mirror (B) Convex mirror

(C) Plane mirror (D)  Plane or convex mirror

lo. Freiefaa o @ feaer sadHiE wod S BT € 2

Ay 99 B) &
(C) JD) N
Which of the [ollowing has the highest refractive index ?
(A) Air . (B) Ice
(C) Glass (D) Diamond
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SEEMANCHAL ACADEMY
20. FrAfefed @ fre o 1 R o e § 2

J8) I e (B] IS ©IF
(C) IOt Ue Hedel o ST (D) SRR A
Which of the following lenses is called converging lens ?.
(A) Convex lens (B) Concave lens
(C) Both convex and concave lens (D) Bifocal lens.
21. HEAEH W FH ¥ FH-G AT ?
Ay EEl (B) TYHE
(C) el (D) TSH
Which discase is caused by the deficiency of iodine ?
(A) Goitre (B) Diabetes
(C)  Scurvy (D)  AIDS
22, Fo A w9 fueged) Ut @ Feem aren A € 2,
(a)  gfg eEHA (B)  URRTEE
(€ g D) TG
Which one of the following is a hormone secreted by pituitary gland ?
(A) Growth hormone (B) Thyroxine
(C) Insulin (D)  Androgen
23, arfier ¥ areifites s forw fafy grT el & 2
() THeH By foEs

(€)  SISIEFA (D) T et
Which method of asexual reproduction occurs in amoeba ?
(B) Fission

(D)  All of thiese

(A) Budding
(C)  Sporulation
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4. el 1 -1 9T el H SKeTal & ?

(A) YK (B) TR
C) IiEN™ (D) SIS
Which part of a flower changes into fruit ?

(A) Stamen (B) Carpel
(C)  Ovary (D) Ovule

o5, TrefefEd § @ S A" F ST (m) AT ?
w = (B) uv

(C) utv (D) %
Which of the following is the magnification ( m) of a lens ?

@ = B) uv

C) u+v D) -

06. TreetEd T W S A & U 9 ek g ?

(A) Il B) e

(C)  uRaTeht Oy el
Which of the following is the coloured portion of an eye ?
(A) Cornca (B) Retina
(C) Iris (D) Pupil

27.  GgFeel U YRt o R Sl 1 WehlviA iU &l © ?
oy T (B)  Hrem
() e (D) RN
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Light of which colour scatters more in atomsphere ?

(A) Red (B) Blue
(C) Yellow (D) Orange

28, TERT F R e ¥ w0 Y o ot gaiea § e 2 fime g e o
AT ® ?
(A) RIS (B) IHSHIY TS
(C) eI (D) TgHSHE JUS TE Wehivd SHI

The sun'is visible to us about 2 minutes before the actual sunrise due to which

phenomenon of tht 7

(A) Reflection

(B) Atmospheric refraction
(C) Scattering

(D) Both atmospheric refraction and scattering

20, f=felad § w9 syafert & 2

W Fge (B) e
€ wS I

Which of the following is bisexual ?
(A) Earthwoim (B) Frog
(C) Fish (D)  Tortoise

3¢ Heel 4 9 A & ford forw O g 2
(A)  AH (B) Tl

c T (D) WX
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Which plant is selected by Mendel for his experiments ?

(A) Mango (B) Rose
(C) Wheat (D) Pea

31, B d QP T ot sk ¥ o
(a) {5 W e (B)
C) & (D) wifew
Which one of the following is a vestigial organ ?
(A) Backbone (B) Thumb
(C) Ear (D) Apendix

32. fausht steq’ forad Gdfim ¥

(A) I ERE (B) ST T&T

(C)  SToT W& (D)  FEIRIYoT

Chipko movement' is related to

(A) forest conservation (B) soil conservation
(C) waltcr conservation (D) afforestation

33. AYHF IEd FER & @R @l & o frefafea § free smed wem
B € ?

(A)  TRHIY] SHHFT (B)  TRHI] HEFre &

(C) UTHI SFR & (D) ©Id &

According to modern periodic law, properties of elements arc a periodic function
of their

(A) Atomic masses (B) Atomic numbers

(C) Atomic size (D) Density
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34. aMytT aT WRON W afist wan Frefeiaa 3w FEerd € 2

(A) e B FF
() D) T @ HE

The horizontal rows of modern periodic table arc known as which of the
following ?

(A) Periods (B) Groups
(C) Shells (D) None of these

35. IR & HET O & 7 4 o0 & o e § ¥ e fofy swgw e 2
(A) ST T B) e TR

\(9 516 1 Wa =TeEhT (D) T 4 g

Which of the following methods is suitable -for preventing an iron frying pan
from rusting ?

(A)  Applying grease tB)  Applying paint

(C) Applying a coating of zinc (D)  All of these
36. famfeiied o g uIq =l = & T @ T o7 Tohal & 2

(A) Al JABr Na

(C) Mg (D) Cu

Which of the following metals can easily be cut with a knife ?

(A) Al (B) Na
(C) Mg (D) Cu
37 VIS 1l NHIHl 0 aHd Il HYid MO Agaivin el 9iss oIl b, Al IdHIclidd H H
T <hel SAldl & 7
(A)  3TFEA JB) e
(C) HER (D) T 4 & =
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If a substance gains oxygen during a reaction, then it is known as which of the

following ?
(A) Oxidation (B) Reduction
(C) Corrosion (D) None of these

38. 3% W1 pH HH BT &
A 73w (B) 79 w

(C) 7 (D) 14

The pH value of an acid is

(A)  less than 7 (B) morc than 7
c 7 (D) 14
39. I W1 WieT o1 vITw G 3
B Na,cO, (B) Na,CO,.2H,O
(C) Na,CO,.10H,O (D) Na,CO,.5H,O

The molecular formula of washing soda is

(A) Na,CO, (B) Na,CO,.2H,O
(C) Na,CO,.10H,O (D) Na,CO,.5H,O.

40. TYHFE! FH ThH U I Siedl ¢, 9% FROT & TG ST T 39T 81T & | I8

AT

(A) TYAEH 3ITA (B) SUHIE® 31

(€ faigw ama (D) ST 10T
Bec-sting lcaves an acid which causes pain and irritation. The acid is
(A) Methanoic acid (B) Ethanoic acid

(C) Citric acid (D) Oxalic acid

[ 112 ] C ISOIQ—C (13)] Page 13 of 20




SEEMANCHAL ACADEMY
41. Agd WAy ST S.1. A

&) AF| JB) |/ TR
(C) e / HieX (D)  H-HeX
The S.1. unit of the electrical resistivity is
(A) ohm (B) ohm/metre
(C) volt/metre (D) ohm-metre
42, FrAfafaa 3 & «F O =1 =9 o1 9w § 2
(A) R (B) el
(C) TR (D) T
Which of the following is the best conductor of electricity ?
(A) Silver (B) Iron
(C) Nichrome (D) Rubber
43. foe@ i1 & gashig wE w1 @ist feas fear ar 2
A)  we (B) S
() R (D) &R
Who discovecred the magnetic effect of electric current ?
(A) Faraday (B) Oersted
(C) Ampere (D) Bohr

44. Torepa Ao aRefad ear &
(A)  Fita Feil i faega He B (B) AN el ) ford Sei o
) Toga oo w taEtE S A (D) fora o w6 gites sw 9

Electric molor converts

(A) mechanical encrgy into electrical energy
(B) chemical energy into electrical energy
(C) electrical energy into chemical energy
(D)  electrical energy into mechanical energy

[ 112 ]| C [5012-C q3 Page 14 of 20
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SEEMANCHAL ACADEMY

Fefefed 7 & #19 god =9 sfufrarie ag ¥ 2

(A) Al (B) Zn
(C) Fe D)~ Mg
Which of the following metals is least reacted ?
(A) Al (B) Zn
(C) Fe (D) Mg
(A) 6 JAB) 8
€ o9 (D) 11
The atomic number of carbon is

A 6 B 8
() o9 (D) 11

UG BISGIhIe T hrei-shie GRATY] & e B3-311eY 81 &, of heaid €

(A) T B TohIeT

(C) UeshiA (D) T 9 FIS Tl
Unsaturated hydrocarbons having triple bonds in between carbon-carbon atoms
arc called

(A) Alkane (B) Alkyne

(C) Alkecne (D) None of these
TS % fepareiict HeTe o G ©

(A) —OH (B} - CHO

(C) - COOH (D) >.CO

The formula of functional group of ethanol is

(A) - OH \@’ - CHO

(C) - COOH (D) >CO

[ 132 [« I5012-C |13ﬂ
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@Ug - & / SECTION - B
Wifd YA / Physics
aga?r&qm / Short Answer Type Questions
Wy WeAT 1/ 8% oY IaT &1 3 @ et 4 uvAt & v &1 nAE 9T & g
2 3% fFaiRa 21 4x2=8

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8

1. VR 9 |/ 1-50 USRS B H T T WY T 1 B T FRRT H oA
ferert & 2 frata & wenrer Y =T 3% 108 m/s ¥ 2

Light enters from air to glass having refractive index 1-50. What is the specd of

light in the glass ? The speed of light in vacuum is 3 x 108 m/s.

}/mﬁv%zpw%aﬁ%uﬁﬁmaﬂ#ﬁ%mﬂ?ﬂwm.@ﬁl 2

Draw a ray diagram to show image formation of an object placed at 2F of a

convex lens.

Vﬁmﬁﬁmw%mwmwm@dﬁl 2
Draw a labelled ray diagram to show the refraction of light through prism.
Mﬁaﬁawﬁﬁm%ﬁaﬂwmaﬁmm%? 2

Why does the sky appear dark instead of blue to an astronaut ?

5. 39 giw o1 A fafae st g & T ) e 9 e @S F s
XAl 2 2

Name the device that helps to maintain a potential difference across the ends of

a conductor.
6. fagd el & dqal & fmiv o g wea SeA ®1 € SuE =i e s 2 2

Why is tungsten used almost exclusively for filament of electric lamp ?

[112]€ |5012-C (13)] Page 16 of 20
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7. %@Qﬁaaﬂaﬂﬁ@m%?

State the principle of an electric motor.

&/ﬁm’ra’lﬂ‘f%w%@ i1

‘Write the names two cnergy sources.

e s m / Long Answer Type Questions
¥eT WEAT 9 Al 103 IRt wvw §1 FAH-@ fHdl UF @7 I 1 HAF 99T F forg
6 3w iR &1 1x6=6

Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them. Each
question carries 6 marks.

I1x6=6
/ﬁﬁ@%ﬁaﬁr&aﬁﬁ% ?mé;am"cmw% ? T Gy i fafy 6t afe
T | 6

What is short sightedness (myopia) ? What are its causes’? Explain the method
of removing this dcfect with diagram. -

10, 3 =1 Fram o | T e & o O T @ o
Write Ohm's law. Explain an experiment for its verification.
THEA IMEA / Chemisfry
ng’ I 99 / Short Answer _Type Questions
YT WA 11 ¥ 17 9% &g I90g ¥1 3 @ fEEl 4 wwt & s &) e & fog
2 3iF PraifRa 21 4x2=8
Question Nos. 11 to 17 are Short Answer Type. Answer any 4 questions. Each question
carries 2 marks. 4x2=8
W@%ﬁwmaﬁ?maﬁﬁww% ? = FAtilRaTe % |
fefEu |

What is the difference between displaccment and double displacement

2,

rcactions ? Write equations for these reactions.
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12. P el & ol dafea wamts e fafau L+
a) Wifeaw gehe ARGT FoREs & Wy Aftfrar & €
b)  fcwan TgeEe A TRsiTaRs & iy sfhRar wL ¢

Write balanced chemical equation for the reaction taking place when —
a) Sodium sulphate reacts with Barium chloride

b) Calcium hydroxide reacts with Carbon dioxide.

M@$W T W AR B W gME: Sie-dl dw freerd! 8 2 T 3SR
& WY 9o | 2

Which gas is usially liberated when an acid reacts with a metal ? lllustrate with
an example.

14. W3R el H g5 w0 & ford Forw wifean s &1 Sudiv fRar S §, W T
fera | 2
Name the sodium compound which is used for softén’ing hard water.
}Qﬂ’t@ﬁm T ? 2
What is Anodising ?
}ﬁsﬁﬁammé;ﬁamﬁaaﬁ@wm% ? stafwrar =1 TEEE
et ford | 2

What happens when zinc is placed in iron sulphate solution ? Write the

chemical equation of the reaction.
17.  SIHYNS Td 9ioHE 1 @9 9 @ )

Write the structural formulae of bromopropane and propanone.

[ 112 | € [5012—C (13) Page 18 of 20
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g 3w W31 / Long Answer Type Questions

oY WEAT 18 TF 19 3 gig &1 g @ et ve @ I &1 v e # e
5 3% Fretha &1 | Ix5=5

Question Nos. 18 and 19 are Long Answer Type. Answer any one of them. Each question
carries.5 marks. ‘Ix5=85

ﬁéﬁn@mmmww% ? T S @i oy, 1o vd 3ug o el s

What is the chemical name of baking soda ? Write its preparation, properties
and uses.

19.  Tsruig st e € 2 o ot Sewwer ¥1 e wig & A st s avE et s
What are alloys ? Give.its two cxamples. Explain three uses of alloys.
Sfta fa@= / Biology
g IANT UIT / Short Answer. Type Questions
WoT AT 20W 26 7% o T &1 5 @ el awva & gv 1 wedw wmT & G
2 3@ fraflRa 1 4x2=8

Question Nos..20 to 26 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8
&WWW%?@MWW@W%@I 2

What is photosynthesis ?" Write chemical eqﬁation of this process.
21 i e & 2 2
What is oxyhaemoglobin ?
22. SgeH AR FACH | 97 3R § ?

What are the differences between xylem and phloem ?

(8]
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03, WG 3T ¥ I F W & 2 I S | 2
What do you mean by homologous organs ? Give examples.
4. R S@E FI-E 7 T Weld AR FEET H I S | 2
Whalt is food chain.? Give an example of terrestrial food chain.
2

55, Yo7 U] & T IUT & ?

What are the strategies of water conservation ?

?,,//%ﬁé?ﬁfﬂ?i%@l 2

Write two functions of blood.

1 39T WS / Long Answer Type Questions

Tor @ 27 vF 28 O sadE §1 s @ el vw @ awy &1 gew wvT & R

5 3w fAEiiRa &1 I1x5=5
Question Nos. 27 and 28 are Long Answer Type. Answer any one of them. Each question
=0

carries 5 marks.

o7. AFE 9 & mir fafy Hr e 5
Explain the method of urine formation in human beings.

}/Iﬂ:ﬁ ¥ T S aF &1 AHihd o o | 5

Draw a labelled diagram .of female reproductive system of human beings.
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